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				Preface


				The significant addition to this new edition is the Extrapolation Test, which replaces the Organizational Skills Test. Whilst both tests require power of concentration, the Organizational Skills Test did not sufficiently challenge the intellectual fluidity that is often the key aptitude necessary for ‘high level executive decision making’. The Extrapolation Test assesses the essential conceptual demands of abstract distillation frequently required in careers at a senior level. The standard of all the tests in this volume is at a level readers may well encounter, for example, for university ‘thinking skills’ tests, for entry to business school and other advanced, high-level assessment programmes.

	
			
				Introduction: How to Succeed with Tests


				You can use the tests in this book for practice and guidance. You will get the most from them if you understand why tests have become so important as:

				
					 	aids to selection and development;

						assessment methods for educational and training courses;

						measures for occupational placement and development.


				The Introduction intends to provide some background information about psychological, sometimes called ‘psychometric’, testing, its purposes and how it works. At the very least, it is advisable to read thoroughly the notes contained within this Introduction relating to ‘How to approach tests’ before you embark upon the tests in Part 1 of this book.

				Purpose of this book

				In this book you have access to tests of a type used by educational and business organizations for purposes of selection, recruitment and development. By ‘test’ is meant both timed tests of aptitude and ability as well as untimed questionnaires, unless these are referred to separately in the text. These types of test are commonly referred to as ‘psychometric’ tests. ‘Psychometric’ means, literally, ‘to measure an aspect of the mind’. It is a standard way, that is, a scientific way of measuring what a person can do or how he or she behaves. How tests do this is discussed later in the text. The two major aims of the book are: 1) to provide an opportunity to become familiar with tests in order to perform optimally in ‘real’ test situations; 2) to offer guidance based upon test results.

				Most organizations now prefer to use tests than rely upon public examination results as these often seem to have little relevance to what is required when actually doing a job. Instead, job-related tests have been specifically designed to assess characteristics that predict likely competence in a job function, whether these are mental or physical skills, personal or social accomplishments. This is exactly what was predicted more than 20 years ago in Test Your Own Aptitude and in my later books, Career, Aptitude and Selection Tests and Aptitude, Personality and Motivation Tests (see Bibliography). Practice on the tests in this book can prepare you for similar tests that you may well encounter in your life. The following are some of the typical and routine situations in which tests are now used:

				
					 	as a complement to an interview as part of a job application;

						degree, professional or other training course application;

						career promotion;

						career development review;

						assessment centre programme.


				So, it is wise to increase your awareness of what is required in such situations. Being prepared, you will be able to respond with confidence and give a true and accurate picture of yourself.

				This book may also assist you to evaluate the career or careers that suit you best. For those people in a career already, it may be able to suggest lines of career management and opportunity without necessarily going through any trauma that might be involved in attempting to ‘turn the clock back’; career fulfilment often has more to do with a qualitative adjustment or refocusing of a career as opposed to making a radical change between different fields of work.

				This volume follows in the sound footsteps of Test Your Own Aptitude, whose purpose was to provide a structured means of discovering hidden potential. It was directed primarily towards school leavers, although people of all ages found it to be a useful guide to career review and possibly career change. With equal effect the present volume is applicable to people searching for a career or career adjustment when those taking the tests anticipate being in, or are already engaged in, a career at a managerial, professional or graduate level. For this reason the tests in this volume are raised in difficulty and permit extra scope for evaluation.

				Owing to the unique characteristics of those who might take the tests in this book, it is not possible to provide a definitive solution to the job search of any individual. Whilst in many cases it will no doubt be found to provide an accurate evaluation and a clear guide, the intention is more modest: taking into account the multifarious differences that exist between people, this book intends to do no more than provide a structured approach to assess how your characteristics may relate to different types of work activity. This is no more than the well-known process of attempting to ensure that ‘round pegs’ do not go into ‘square holes’, but with the insight that arises from employing well-used psychological methods that have been devised in an attempt to obtain the best ‘job fit’. Tests can do this by:

				
					 	looking at potential in a similar way for everybody;

						attempting to ‘take stock’ of talent that may be affected, contaminated and distorted by so many other variables, in particular, educational disadvantage or prejudice;

						trying to ensure that there is some opportunity for people to demonstrate the resources they have.

				

				The advantages and limitations of a test

				All of us are testing everything and everybody we encounter every day. We make judgements, usually on the basis of our experience. If we did not have experience as a measuring device to help us, we would proceed haphazardly from one experience to the next. Sometimes we might doubt our experience or have insufficient of it. Tests are another form of measuring device that can add to our experience, thereby enabling us to make more informed choices. In this case we are seeking a basis to check whether our assumptions are correct and to extend our knowledge. In so far as those people to whom you are applying for a position, job vacancy or training programme are concerned, they may have very little experience of you, and they may take your curriculum vitae or your examination results with a pinch of salt! Even if they do know you because you have been working for them for a while, they may still be unsure as to whether you could manage a more difficult or different job. Therefore, they may well want to learn more about you by using the quick, objective and relevant means of testing.

				Tests allow us to overcome our prejudices and subjective impressions. The trouble with relying on our intuition is that two people comparing the same thing may have contrary experiences. One person says, ‘I thought she was very clever’, whilst another says, ‘Really I thought she was not’, or one says, ‘I thought he was very well organized’, to which the other replies, ‘Well, he never gave me the message he was supposed to pass to me.’ I remember my father, who was a cavalry officer, saying, ‘You can always tell a man by his shoes.’ A business lady I once met stated that she always rejected a handwritten curriculum vitae (CV), but other business leaders ask for a CV to be handwritten. Prejudicial judgements are insoluble to a candidate because they have no way of knowing what they are being measured against. Tests that measure mental reasoning, behaviour or motivation, like any other scientific measure, say of height or weight, are designed to give us all the same information so that we all know what we are talking about. They enable us to state, with a certain confidence, ‘how much’ of a certain characteristic or ‘how likely’ certain events might be.

				Reliability and validity

				It is the capacity to measure the same characteristic in the same way that makes a test a ‘reliable’ measure. Reliability, that is, something we can predict will always work the same way, is essential in order that we can obtain ‘valid’ information about ourselves. By ‘valid’ is meant that the information is sound enough for us to make decisions that are better than chance. Obviously, if a test has no validity there is little point in using it, unless our purpose is merely to have fun! This is why so little notice is taken of horoscopes, palm reading, crystal ball gazing and similar activities. Therefore, tests are just like any other tools that may increase efficiency and hence productivity in an organization. How well the test works, that is, how reliable is the result, also depends upon you! To the extent you are underprepared for the test and, therefore, could have done better, the test will not measure you accurately and you will have let yourself down unnecessarily.

				If your intention is to gain familiarity with different types of tests, but you are not concerned with what your level of performance, attainment or ‘score’ might mean, then you will probably not be interested in whether the test is an accurate measure of anything. But if you would like to obtain some guidance from the tests in this book, you will want to have some idea of:

				
					 	what you are best at;

						how you compare with other people; 

						how your results might relate to different occupations.

				

				‘Differential’ tests

				The comparative processes above are possible only if the tests are able to measure your talents and those of others in the same way. In other words, the tests will be measuring ‘like with like’. This is particularly important with tests such as those in Part 1, which are tests of mental measurement and where relative aptitude on the different tests may be a significant factor in career guidance. The tests in this book are of a special kind termed ‘differential’ tests because they can say whether a person’s performance on one test really is greater than that on another test. Example tests of this power that are widely used by psychologists are: the ‘General Ability Tests’, published by The Morrisby Organization, and ‘The Differential Aptitude Test Battery’, published by Psychological Corporation Ltd. The essential characteristic of differential tests is that each test measures a different aptitude and then compares the result on one test with a result on another. As the tests are developed they are compared with each other to make sure that they really are measuring different mental aspects. This is a statistical exercise called test correlation. None of the tests in this book correlate with each other very much, so all are measuring an aspect of intelligence that is different from the others. To ensure this is the case the tests have had to be developed with people who have each taken all of the tests. It is this process that makes each test useful as a single test, but even more powerful as ‘differential’ tests.

				However, the tests have not been tried out on sufficient numbers of people or, indeed, sufficient distinct groups or types of people to be able to provide definitive solutions. Whilst the tests in this book can suggest some ideas or possibilities about yourself that you may want to pursue, you can seek further advice from a psychologist, who will administer reliable tests that are relevant to your particular situation, age group and background. They will provide you with a much more valid result than is possible within the confines of this book. (It is possible to consult organizations providing career guidance. If you do so, make sure that you will be given a complete battery of tests, including aptitude tests, and that you will have access to a properly qualified psychologist.)

				The ‘average’ and ‘standard deviation’

				In the meantime, whilst the tests in this volume do not claim to be able to give you precise information and guidance in your individual case, but only to give you a sound structure through which to analyse your potential, they have been pretested many times to ensure that they are some measure of what is intended. They have been tried out on many people with various backgrounds and with various qualifications ranging in age from 16 to 60 years. When the results of many people are collected together it is useful to find an ‘average’ and then have a way of finding out how far any one person is different, or deviates, from the ‘average’. Statisticians call the average a ‘mean’ and the difference a ‘standard deviation’ or ‘SD’. The ‘average’ will be a familiar concept to you, whilst the ‘SD’ may not be. The SD is used by statisticians as well as by psychologists. It is a figure that is based upon the ‘average’ of all the people within a certain group who have taken the tests. It tells how far any individual score is different from (or ‘deviates’ from) the average of the group. If you have a score that is one SD above the average, you are roughly doing better than 70 per cent of the group. If you have a score that is two SDs above the average, you are roughly doing better than 95 per cent of the group. For those who are interested in the characteristics of the aptitude tests used here, the statistics, in round numbers, are as follows:
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				Interpreting your test score

				So, if in the Visual Logic test, you obtained a score of 29, your score would be one SD above the mean or average. Psychologists know that you are therefore performing at a level above that of approximately 70 per cent of other people who have done the test. If your score was 36, then you would have performed better than approximately 95 per cent of other people on this test. So, the greater your SD, the more likely it is that your aptitude really is greater or less than other people.

				Similarly, it is possible to compare your performances on two or more different tests. For example, if your score was around the mean on one test, but around one SD higher on another test, this would give you reasonable cause to think that you really were better on one type of problem solving than another and, further, that this finding might give you cause to consider what this imbalance in your aptitudes on these tests might mean for the type of work you would be best at. Again, the greater the differences in your performances on these tests, the stronger the evidence is likely to be.

				In both the above illustrations, care must be taken not to take the results too literally, but only as indications. This is because the tests may not be measuring you precisely, again because of testing conditions or because the tests themselves are not precise enough or because many other factors about you need to be taken into account. There are many ways in which your score on any test might be inaccurate or indicate ‘under-attainment’. Presuming the tests were administered in the correct conditions, psychologists have ways of calculating how likely it is that your score has a degree of ‘measurement error’ and this needs to be taken into account before it is possible to say just how good you really are on any test. This is intended only to give you an indication of what is involved in trying to estimate your potential. Further explanation of the statistics of test measurement is beyond the scope of this book. Other tests you will encounter in ‘real’ test situations will provide you with more accurate results because they will apply the necessary statistical processes more precisely to tests that are reliable and valid for the circumstances in which you are taking them.

				Standardization

				A psychometric test, such as the ones in this book, is one that aims to measure psychological characteristics that are expressed through different actions. These tests are ‘standardized’, which means that they have characteristics that anybody can understand if they want to, in the same way that everybody can feel how heavy a kilo is or see how long a metre is. Thus, they are measuring instruments because they permit some basis upon which comparison can be made. Unless it is known what the ‘measure’ actually is, it will be impossible to compare one person’s performance against that of another so that you will be able to say with some level of accuracy how much a result is above or below average. Therefore, what ‘average’ actually means becomes crucial. For the tests in Part 1 of this book ‘average’ is approximately between a ‘D’ and ‘C’, approximating to most people. ‘C’ is above average, whilst ‘B’ is well above average, approximating to people who have the potential to go on to higher education and to people who have obtained a higher qualification. A score of ‘A’ is very high indeed, giving exceptional evidence of aptitude in this area. Your score on a test is called a ‘raw score’. This is the number you got correct. The raw score makes no sense until you compare it with a ‘standardized’ score. In this case the standard scores range from F to A. In the section How to Interpret and Apply Your Aptitudes you can enter your raw score in the chart and find your equivalent standard score.

				Correlation

				A score on a test will only make sense if it can be rated against something else. What the test actually means in practical terms is what you will want to know. This is often the limitation of tests that merely provide a measure of intelligence, ‘intelligence quotient’ or ‘IQ’ tests, because they may not tell us much about what a person can actually do in real terms. Aptitude tests are designed to provide more practical, usable information. Thus, how effectively your ‘measure’ can predict how well people will succeed in other, different activities is another statistical process called ‘correlation’. It is a measure of how well we can be certain that the presence of one thing predicts that something else is likely to happen. For example, how well would a high score on the test of Numerical Insight predict that a person could qualify as a mathematician or how well would a high score on the Technical test predict that a person could qualify as an engineer? The answers in both cases are that the tests give an indication, but do not predict those possible events with certainty because they have not been researched exhaustively enough to be a scientific correlation. When you think about it, there are too many other factors to be taken account of, such as what other talents does the person possess, are they interested in pursuing their talent, do their circumstances allow them to follow that direction, as well as how well the test is assessing a key talent that is required in a particular job. And when you take into account the fact that different organizations may require different aspects of that talent or for that talent to be combined with others, the number of ‘variables’ becomes far too many to deal with in a book. To do so, it would be necessary to correlate all the tests in this book with the six hundred or so careers that are given in the Occupational Index, an impossible task.

				Therefore, the relationship between test performance and careers is based upon my own experience of using tests in career guidance with many thousands of people of all ages. I hope that you will find that my experience has some validity for you. No doubt many readers will find themselves in a testing situation in which the attributes that are being assessed have been exhaustively researched in order that they produce a scientific correlation with the job for which they are applying. However, tests are often used merely as general guides or as schemes or checklists to facilitate an interview, particularly in the case of personality and career type tests.

				If you want to receive accurate, standardized information about your intellectual or other potential, you would need to be properly assessed by a psychologist in order that:

					1tests are administered in conditions that will produce an accurate result;

					2the results are interpreted properly;

					3the results are compared specifically against a relevant group; and

					4the results are compared against specific criteria, such as measured skill needed for success on a specific course of training or in a particular job.

				How to approach tests

				You will obtain most from the tests in this book if you read the notes on guidance on how to take tests, below, and also follow exactly the instructions preceding each test. A test will not tell us anything very much unless taken in the optimum conditions. Therefore, you must ensure that the conditions in which you take tests allow you to do your best. The tests may be online or you may be asked to sit a paper-and-pen version. Here is a checklist covering testing situations in general:

				
					 	You must not be distracted. Ensure that you will not be interrupted by other people or sounds that might intrude.

						You must be comfortable. If you are too hot or cold or other things put you off, such as poor lighting, then let someone know. If you want to take time out to go to the lavatory, then it is sensible to say so.

						Be prepared. Before attending the test session make sure that you have covered any options such as pre-reading, that there are no exercises that it is impossible for you to do, that you have asked what you should bring, how long the process will take and what it will consist of.

						Read the instructions. Do this thoroughly, taking as much time as you require. Do not be intimidated if other people being tested at the same time as yourself seem to have finished – the important thing in your case is that you should be clear as to exactly what is expected of you.

						Work through the examples. Do this thoroughly as well. If there is something you do not understand, make sure you do understand it before you start the test itself. You can take as much time as you want before starting a test.

						Anything else. A properly trained test invigilator will be on the alert to assist you with any difficulty. They will encourage you to mention anything that might be an issue before the test as well as after it. If something has occurred to you during the test you should mention it, because it might be of sufficient importance to be taken into account when the test is marked and interpreted.

				

				The example that follows is similar to the instructions that you might be given when taking tests in formal situations. They are given at length here in order to provide you with full information and as a means of substituting for instructions that you will not be receiving as you take the tests in this book by yourself. If it is a paper-and-pen test, the test administrator (someone who has been trained to administer tests properly) may say something like:

				You have pencils and rough paper in front of you. If you want more, please let me know. I will give out the test in a moment.

				You will now be asked to complete a series of timed aptitude tests. You will be told when to start and when to stop. You will be given plenty of time to read the instructions and do some practice examples before you start each test. It is important that you understand what is expected of you before you start. It is necessary to work quickly on the tests. The tests are very short and there is no time to keep looking at your own watch. Simply work as quickly as you can, but do not rush on so quickly that you feel you may be making mistakes. Go as fast as you can but try to make sure that what you are doing is correct. Try not to guess as that may count against you.

				You will probably find that there are too many items for you to complete within the time given. The tests are designed this way. You are not expected to get to the end of the test in the time given, but to get as many answers correct as you can.

				Do not turn over until you are told. Write your name and other details on the front page. Then read the instructions. If there are any examples you should do them. You can do any working out you want to on the booklet and inside the booklet when you are told to turn over. You are also given some paper for rough working.

				When completing the answer sheet, you must make it clear what your answer is. If you want to change your answer, rub it out completely and fill in the answer you prefer, so there is no doubt which is the correct one.

				When you have read the instructions and tried out the examples please ask any questions. Wait to be given the instruction to turn over.

				Guessing

				The whole point of a test is that someone will come across many items where they cannot be absolutely certain, and even if they are absolutely certain in their own mind, they may nevertheless be wrong. Guessing is therefore inevitable, but what you want to eliminate is wild guessing, because this will not improve your score and might well reduce it. However, in the case of individual items where you think you probably know the answer, although you are not absolutely sure, it is probably worthwhile making a choice rather than leaving the item out. This is particularly the case in tests where the answer cannot be exactly quantified, as in numerical tests, but could be evaluative or interpretative, for example, with verbal concepts.

				What should you do if you get stuck on an item? With aptitude tests that are designed to get more difficult as you go through them, if you get stuck on an item it may be best to leave it and go on to the next. Although the next item may well be slightly more difficult you will probably be able to do it once you ‘free yourself up’ from an item on which your concentration may just temporarily have given up.

	
PART ONE


[image: ]Aptitudes


Introduction

The following remarks, whilst directed towards the tests in this book, are also intended as general advice for tests you might take in ‘real’ test situations where you may not be able to find out beforehand what tests you might be given. Therefore, this book prepares you for tests you might encounter. Some you are going to do are abstract and some are practical. Some, such as the Verbal Concepts test, because of vocabulary depend to a large extent upon abilities you have learnt beforehand. If the results on these tests show you to be relatively weak, you can improve your performance by giving yourself some practice. Others, like the Visual Logic test or the Form Recognition test, are of a type that is not so dependent upon prior knowledge. Some of these tests are looking for flexibility, perceptiveness or insight in your reasoning. For example, it is not for nothing that the Numerical Insight test contains the word ‘insight’. This test, like other ‘reasoning’ tests, gives you a hint that the test may be searching for something deeper than the ability to add numbers. In this case, it is the potential to perceive the connections between numbers in sometimes different, new ways. Therefore, the key overall rule for you to follow is that, having read the instructions and done the examples to a test, you should be clear about what the test is going to demand of you before you start it.

1.Problems ‘on your mind’

If something has happened to you that is absorbing your attention it is better to take the tests when you are in a more settled frame of mind. Such matters may be lack of sleep, poor health, or worry about other people. (In a real test situation any such matter should be reported as soon as possible. It is then the responsibility of the person testing you to decide whether they are able to make allowance for your circumstances in the test results or whether any results might be worthless in those circumstances. After all, they want to obtain an accurate picture, otherwise they will be wasting their time.)

2.Preparation

Check that you have everything you need before you start the test. If it is a paper-and-pen test, have you sufficient pencils? Have you an eraser? Have you got spare paper? Is there anything that might ‘put you off’ or disturb you?

3.Reading instructions

Always make sure you are absolutely certain what you have to do before you start. The tests are strictly timed and you will lose out if you have to stop, go back and reread the explanation (or ask for assistance from an invigilator in a real test situation).

4.Do not have preconceptions about how well you might do

You may think you are going to perform better on some tests than others. You may like some tests better than others. These thoughts will be based upon your past experience, but have little relationship to what you can actually do. Therefore, try your utmost on all the tests, as you may be better on some tests than you expect.

5.Read the explanation carefully

Do any examples and make sure you understand any explanation. (If you are in a real test situation where you are being tested alongside others, do not feel rushed into starting before you are ready just because you do not want to look stupid. If you ask for an explanation, the chances are that others will also be glad to have an explanation of the same thing!)

6.Timing

Most of the tests in this book are too long for you to complete in the time given. They are designed that way. Therefore, do not begin to rush if you think that time must be running out. Work at a speed at which you feel you are in control and are not having to guess. (In a real test situation, where there may be other candidates, do not be put off by a candidate who seems to be working very quickly. They might be leaving items out or they might be getting what they do wrong. If you are unsure, ask the invigilator if you should have a watch or clock to refer to. You can also ask whether it is possible to be given a warning that you have a certain amount of time left before the end of the test.)

7.Guessing

This is generally a waste of time because you are missing an opportunity to get something right. Also, having spent time on working on an item, you lose that time if you throw it away with random guessing. If you have a strong ‘hunch’ that you know the answer, it is better to make a choice than nothing at all, but if you do this too many times, your guessing will count against you. If you are ‘stuck’ on an item it is better to leave it and go on to the next as you will at least avoid getting a wrong answer, whilst also giving yourself the option to come back to that item later.

8.Marking the answer paper

Make sure your answer is clear, otherwise you will not get a score. On some tests you are only required to count the number of answers you have got correct. On others you have to make a correction. For example, you may have to take a quarter of those you have got wrong away from the number you have got correct. In this case, take the number you have wrong to the lowest whole number, so that if you got 5 wrong you would take one mark away from your score, whereas 7 wrong would mean that you take two marks away from your score, and 13 wrong would mean you take three marks from the number you had correct, and so on.

9.Drawing on the answer paper

In a paper-and-pen test, do not worry about making marks, drawings or doing calculations on the page of tests (unless this is not your copy!). What is required is the correct answer, so tidiness is unimportant. Many people prefer to make jottings on the answer sheet itself rather than use spare paper, and this is perfectly acceptable and is not cheating! If you need to make a note or do a sum, it is often quicker to do any rough work in the margin than switch to spare paper. This is certainly true of the Analytical test, where it is helpful if you actually draw the figures as you work out the answer rather than try to hold all the information in your head. At the same time, you must not spoil test papers that may have to be used again by others. Always ensure you have sufficient rough paper. (In a real test situation you may be given a separate answer sheet and question booklet. The former is usually disposable once used, the second is usually expensive and will be used many times, so ruining this will not endear you to others, though the invigilator should have made sure that you were fully aware and kept to any such rule relating to the preservation of test papers.)

10.Be aware of your situation

In a real test situation, make sure that the invigilator is aware of conflicts or difficulties that may affect your performance. This might be something that happened during testing – for example, you realized at the end there was another sheet you had missed, you broke all your pencils and had to wait, and so on – or outside factors – for example, you are ‘jet-lagged’, you have a cold, you are worried about the health of a relative, and so on.

Test 1Visual Logic


This is a test of how well you perceive how lines and shapes are connected. You are given a question and some alternative drawings. You have to choose the one drawing that is the most logical. 

You can mark your answer on the page in the way that suits you best. You can cross the correct answer through, mark with a tick, circle or underline. It is best to mark your answer with a pencil so that you can erase it if you change your mind. The first of the examples below has been done already.

Examples

[image: ]

In the first example alternative ‘b’ is the answer as it is exactly the opposite. In the second example alternative ‘c’ is the only drawing without a curve. 

This test lasts 15 minutes. You have to work accurately and do as many questions as you can in the time allowed. When you are ready, start the test that begins over the page and start your timer as you do so. Keep going until you have finished the last question or run out of time.
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Answers to Test 1


	
		
				1d

2a

3b

4c

5b

6a

7d

8c

9b

10a

	11b

12a

13b

14d

15b

16d

17c

18a

19c

20a

	21c

22b

23d

24d

25a

26a

27b

28a

29d

30d

	31a

32b

33a

34b

35b

36b

37a

38c

39d



RAW SCORE=Number of correct answers minus ¼ of incorrect answers. 

GRADES



	
A score of 32 or over


	
grade A



	
26–31


	
grade B



	
20–25


	
grade C



	
15–19


	
grade D



	
10–14


	
grade E



	
0–9


	
grade F




Transfer your grade to the chart on page 94.

Explanations to Test 1

Visual Logic

1In the example, the triangle has been ‘flipped’, pointing up and then down. The answer could only be ‘a’ if the original triangles had been rotated by 90 degrees, not by 180 degrees. ‘B’ reflects the triangle vertically, but is not satisfactory as it is the same image as the original triangle. There is no reason provided by the example pair why the answer should be a shaded triangle, so ‘c’ is unsatisfactory. The answer is ‘d’ because it has been ‘flipped’ in just the same way as the example, albeit horizontally as opposed to vertically.

2Only answer ‘a’ is of a figure that is not three dimensional.

3The sequence is 1, 2, 3 and 4 lines, so next would be 5 lines.

4The rule is that the outside figure becomes the inside figure.

5The figure for answer ‘b’ has a different orientation from the others.

6The figures are repeated in a chain so that a rectangle is followed by a circle in a rectangle. The next figure will be a rectangle; answer ‘a’. All of the other answers would break the pattern.

7In the example, the figure has been rotated 180 degrees or, alternatively, has been ‘flipped’ and has been given a ‘mirror image’. ‘D’ is the answer that has gone through the same process.

8All the figures apart from ‘c’ have straight sides.

9The next figure must be a rectangle, and within this must be a black circle, not a white circle, which would break the pattern. White circles appear to move successively clockwise from corner to corner of the rectangle, whilst black circles appear to move successively clockwise from side to side, so the answer is ‘b’.

10Half the number of lines in the original figure are removed in each case.

11Only in answer ‘b’ is there a circle outside the curve.

12The first line is half the length of the second line. The third line, which is attached to the second line, goes downwards and is half the length of the fourth line. The expectation is that the fifth figure would be another ‘half’ line. There is no evidence that the resulting figure should be ‘flipped’ (as in answer ‘c’), so the correct answer is ‘a’.

13In the first drawing, a white triangle is placed ‘on top of’ a black triangle, which is itself placed on top of a white triangle. This is equivalent to the second drawing, in which the top triangle is black, then white, then black. The same pattern or sequence follows with the square drawings.

14‘D’ is the only answer than contains two figures of the same shape.

15The first figure is plain and a circle. The second figure has a square inside the circle. In the third figure the square has covered the circle and has become, like the first figure, a plain one. In the fourth figure a circle has appeared in the square. The progression is of plain figures, then figures containing a smaller figure, which then becomes the next plain figure, so the answer is ‘b’.

16The circle frames the square, which then becomes the outside figure, whilst the circle becomes shaded. Therefore, the square should become the outside figure, whilst the triangle becomes the inside, shaded figure; answer ‘d’. 

17Answer ‘c’ is the only figure that ‘opens’ downwards. 

(NOTE: with these sorts of problems, other answers often contain possibilities that are also ‘odd’ but are, when you think carefully, not ‘odd’ enough. For example, answer ‘a’ is the only one to have two lines and ‘d’ is the only one to have four. So, why should either of these answers be better than the other? Again, only ‘b’ has a figure with a base at the bottom, but why should this be more ‘odd’ than figure ‘c’, which has a ‘base’ at the top? To solve these sorts of problems it is necessary to find the answer for which no other answer has an equivalent or complementary feature). 

18White alternates with black, so the next figure will be plain white. The order is therefore as follows: a white circle, a black circle within the white circle, a black circle covering the white circle so that it is all black, a white circle appearing in the black circle, then, finally, the inner white circle will cover the black circle so that it is all white; answer ‘a’. 

19In the example, the triangle is removed and the circle becomes black. Therefore, if the pentagon is removed, the outside square should remain the same and the inner square should become black; answer ‘c’.

20In answer ‘a’ the ‘arms’ of the inner figure are turned ‘inwards’ within the larger figure, whereas all three of the other figures remain entirely ‘open’.

21As white and black circles appear in sequence, a white ball should be next, so the answer is ‘b’ or ‘c’. There is no reason why the white ball should be under the line since the sequence seems to be over, under, over, under. So the next figure should be a white ball above the line; answer ‘c’.

22The small, white triangle becomes a black triangle that has been reversed or flipped 180 degrees. We should expect the white triangle to become a black triangle again reversed. ‘B’ is the only satisfactory answer.

23All but ‘d’ have three lines and two circles.

24The white circle moves successively clockwise to the next corner of the square so that it will next appear in the top left hand corner. The cross moves across the square so that it will next appear at the top right of the square. Both these positions are covered by answer ‘d’.

25In the first example, the lowest, oval figure of the set disappears. Its colour, black, becomes the colour of the square in the second set. The colours are transmitted down from one small figure to the next in each set. So, the shaded square becomes black, the black triangle becomes shaded and the white circle becomes black. Thus, we would expect the third set to go from white triangle to shaded, shaded circle to white and white square to shaded; answer ‘a’.

26Only ‘a’ has a line that does not join corners.

27Whilst the black circle moves successively anticlockwise from corner to corner, the cross moves successively from bottom right to top left of the square.

28One set mirrors the other set whilst the two white circles are changed to two black circles along the horizontal.

29Only ‘d’ has more small circles than the number of sides of the figure within which they appear.

30The circle moves on top of the line and from its right to its left end, then moves back to the halfway point, then to the right again, so the next move is most likely to be again at the left end. The small, vertical line goes from extreme left, to middle, to the right and then to again to the left. So the next move is likely to be to the middle. It seems that both the circle and the vertical line only move to the middle of the horizontal line in one direction and that this is a different direction.

31The first pair is a vertical mirror image, whilst the second pair is a horizontal mirror image. Alternatively, the three inner figures move around the inner square clockwise from corner to corner.

32Only ‘b’ has two lines that bisect each other.

33The black headed ‘pin’ moves successively from the vertical to the horizontal and returns to the vertical. Next time it should be vertical. The white headed ‘pin’ moves successively from the ‘13.30’ position, the 12.00 position, the 10.30 position and then to the 09.00 position where it is hidden by the black headed pin. Next, it should be in the 07.30 position; answer ‘a’.

34The outside square rotates. The inside square remains in the same position, whilst the small circle within it changes shade from white to black and moves down progressively from top right to bottom right. 

35Only ‘b’ has one internal line, the others have two.

36The black circle moves from right to left of its line so that its next position will be right. The white circle moves at the head of its line successively from 15.00, to 12.00, to 09.00 and to 06.00 so that its next position will be at 03.00. Note that in the first drawing the white circle was covered or ‘hidden’ by the black circle, which will happen next time, so answer ‘b’.

37Only in ‘a’ is there a single small white figure in the large square; there are two white figures inside all three of the other squares. 

38In successive drawings a black circle moves from top left to bottom right of a circle, whilst a semi-circular ‘plate’ rotates anti-clockwise around the circle. In the third drawing the ‘plate’ has rotated to the left hand side of the circle and covers the black circle at top left. In the fourth drawing the ‘plate’ has rotated and covers the circle at bottom right. The black circle will next be at top left of the large circle, exposed by the ‘plate’, which has rotated to the right hand side; answer ‘c’.

39Only in answer ‘d’ is there a circle juxtaposed to the side of each line.


Test 2Numerical Insight


This is a test of how well you are able to perceive numerical relationships. From the four alternatives provided you have to choose the one that goes with the others.

You can mark your answer on the page in the way that suits you best. You can cross the correct answer through, mark with a tick, circle or underline. It is best to mark your answer with a pencil so that you can erase it if you change your mind. The first of the examples below has been done already.

Examples

114265

2983

abcd

21551243360

7456

abcd

386121410

3275

abcd

In the first example a ‘3’ can be added to make a series from 1 to 6, so ‘3’ has been underlined to show it is the correct answer. In the second example all the pairs of numbers total ‘6’, so ‘d’ is the correct answer. In the third example the correct answer is ‘2’ for several reasons: because it is an even number, like those above, and because it divides into the numbers above and because the numbers above ascend (or descend) by 2. In this example, none of the other numbers, 3, 7 or 5, will work as well.

This test lasts 15 minutes. You have to work accurately and do as many questions as you can in the time allowed. When you are ready, start the test that begins over the page and start your timer as you do so. Keep going until you have finished the last question or run out of time.
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				2

				2

				2

				2

				2

		

		
			
				3

				4

				2

				5

				


			
			

			a

			b

			c

			d

			


		
	2

	6

	3

	4

	2

	1




	
	5

	4

	0

	8

	



	

	a

	b

	c

	d

	



	3

	6

	6

	6

	6

	6




	
	7

	3

	8

	10

	



	

	a

	b

	c

	d

	



	4

	2

	6

	4

	10

	12




	
	8

	16

	14

	1

	



	

	a

	b

	c

	d

	



	5

	3

	6

	9

	15

	12




	
	2

	21

	24

	18

	



	

	a

	b

	c

	d

	



	6

	1

	3

	2

	4

	5




	
	16

	15

	9

	7

	



	

	a

	b

	c

	d

	



	7

	4

	12

	8

	10

	2




	
	3

	13

	5

	2

	



	

	a

	b

	c

	d

	



	8

	49

	56

	21

	84

	91




	
	7

	8

	11

	13

	



	

	a

	b

	c

	d

	



	9

	100

	60

	1020

	70

	110




	
	111

	85

	35

	80

	



	

	a

	b

	c

	d

	



	10

	36

	60

	72

	48

	84




	
	40

	12

	96

	18

	



	

	a

	b

	c

	d

	



	11

	15

	5

	10

	25

	30




	
	23

	20

	15

	85

	



	

	a

	b

	c

	d

	



	12

	4

	120

	12

	68

	88




	
	3

	2

	6

	5

	



	

	a

	b

	c

	d

	



	13

	39

	48

	27

	51

	57




	
	54

	13

	3

	7

	



	

	a

	b

	c

	d

	



	14

	91

	56

	35

	140

	63




	
	107

	4

	7

	9

	



	

	a

	b

	c

	d

	



	15

	8

	64

	2

	4

	32




	
	1

	16

	12

	48

	



	

	a

	b

	c

	d

	



	16

	735

	591

	663

	366

	87




	
	94

	443

	89

	4443

	



	

	a

	b

	c

	d

	



	17

	6

	11

	27

	18

	38




	
	4

	9

	2

	5

	



	

	a

	b

	c

	d

	



	18

	58

	135

	25

	51

	5




	
	35

	46

	111

	39

	



	

	a

	b

	c

	d

	



	19

	74

	92

	58

	34

	36




	
	31

	52

	48

	79

	



	

	a

	b

	c

	d

	



	20

	97

	42

	53

	86

	31




	
	2

	4

	28

	5

	



	

	a

	b

	c

	d

	



	21

	11

	16

	26

	21

	6




	
	14

	3

	5

	33

	



	

	a

	b

	c

	d

	



	22

	3549

	4827

	1758

	4935

	5817




	
	6077

	7491

	4819

	994

	



	

	a

	b

	c

	d

	



	23

	7642

	9321

	82

	21

	532




	
	431

	3

	1802

	7660

	



	

	a

	b

	c

	d

	



	24

	112

	459

	358 

	224

	404




	
	164

	336

	183

	247

	



	

	a

	b

	c

	d

	



	25

	7765

	979

	555

	96

	898




	
	469

	98

	707

	43242

	



	

	a

	b

	c

	d

	



	26

	902

	6010

	7064

	5093

	110




	
	11

	8994

	202

	2146

	



	

	a

	b

	c

	d

	



	27

	7663

	6877

	4008

	2113

	55




	
	4202

	969

	42

	330

	



	

	a

	b

	c

	d

	



	28

	4132

	9678

	8493

	5894

	3461




	
	9788

	5473

	1490

	7889

	



	

	a

	b

	c

	d

	



	29

	13

	17

	14

	19

	10




	
	2

	18

	29

	8

	



	

	a

	b

	c

	d

	



	30

	28

	26

	52

	72

	29




	
	21

	24

	32

	82

	



	

	a

	b

	c

	d

	





Answers to Test 2


		
				1c

2a

3b

4a

5d

6b 

				7d

8a

9d

10b

11b

12b

				13c

14c

15b

16d

17c

18a

				19b

20a

21c

22b

23c

24b

				25d

26c

27d

28a

29b

30b



RAW SCORE = Number of correct answers minus 1/5 of incorrect answers.

GRADES



	
A score of


	
20 or over


	
grade A



	

	
16–19


	
grade B



	

	
11–15


	
grade C



	

	
7–10


	
grade D



	

	
4–6


	
grade E



	

	
0–3


	
grade F






Transfer your grade to the chart on page 94

Explanations to Test 2

Numerical Insight

1The answer is ‘c’ because it is the same number as the others in the line.

2The answer is ‘a’ because the number 5 is missing from the sequence. 

3The answer is ‘b’ because it divides into 6. No other answer has a satisfactory connection.

4The answer is ‘a’ because 8 is missing from the series.

5‘18’ is missing in the series of ascending threes.

6Adding the numbers produces answer ‘b’.

7All the numbers are divisible by 2.

8All the numbers are divisible by 7.

9Answer ‘d’ has a zero, like the others in the line.

10All the numbers are divisible by 12. Why should the answer not be 96, answer ‘c’, which is next in sequence? It would have been a satisfactory answer had 12 not been offered; 12 is a better answer because it is the connective link between all the numbers. It is worth reminding oneself, especially on a timed test, to check all the possible answers provided and not to go for the one that may look obvious.

11Answer ‘b’ is missing from the series.

12All the numbers are divisible by 2.

13All the numbers are divisible by 3.

14All the numbers are divisible by 7.

15Each number is doubled each time to form a sequence in which 16 is missing.

16All of the numbers add to 15 as answer ‘d’.

17The difference between the ascending series increases by 2, thus 5, 7, 9, 11.

18All these numbers contain a 5.

19All the individual numbers add to odd numbers, thus 52; 5 + 2 = 7.

20All the individual numbers, when added, are divisible by 2.

21‘5’ is the number by which the series ascends. 

22Adding the numbers together in each group produces 21.

23All of the numbers has a 2.

24The first two numbers add to the third number.

25Each set of numbers when added is divisible by 5.

26‘C’ is the only number to have a zero, like the line of numbers.

27The first digit of each set makes an ascending series.

28The first two numbers always adds to the second two numbers when added. 

29The number, 1, is a common digit to all items.

30The difference between the two digits makes an ascending series, of which the answer, ‘b’, is 6.

Test 3 Verbal Concepts


This is a test of how well you are able to perceive connections between words. You are given a question and some alternative words. From the alternatives provided you have to choose the one word that makes the most sense.

You can mark your answer on the page in the way that suits you best. You can cross the correct answer through, mark with a tick, circle or underline. It is best to mark your answer with a pencil so that you can erase it if you change your mind. The first of the examples below has been done already.

Examples

1Which word describes something different from the others?


	
		
				ROAD

				HOUSE

				RESIDENCE

				HOME


		
				a

				b

				c

				d



2Which word is closest in meaning to the word CONNECT?




	ATTACH

	DULL

	FETCH

	SNAP



	a

	b

	c

	d



In the first example ‘ROAD’ is the odd one out because the others are all to do with a place in which to live. In the second example ‘CONNECT’ is a verb meaning ‘to join’, as is ‘ATTACH’. The other words mean something different: ‘dull’ is an adjective; ‘fetch’ is a verb, but means ‘to bring’; ‘SNAP’ is a noun describing a quick, closing sound.

This test lasts 10 minutes. You have to work accurately and do as many questions as you can in the time allowed. When you are ready, start the test that begins over the page and start your timer as you do so. Keep going until you have finished the last question or run out of time.

1Which word describes something different from the others?



	
BLUE


	
YELLOW


	
SHOES


	
GREEN



	
a


	
b


	
c


	
d






2Which word is closest in meaning to the word NOISE?



	
ROAD


	
SOUND


	
MAN


	
QUIET



	
a


	
b


	
c


	
d






3Which word describes something different from the others?



	
SKILFUL


	
TALENTED


	
CLEVER


	
INCAPABLE



	
a


	
b


	
c


	
d






4Which word is closest in meaning to the word STRANGE?



	
FINE


	
ODD


	
NORMAL


	
RESPECT



	
a


	
b


	
c


	
d






5Which word describes something different from the others?



	
BANG


	
HASTY


	
RAPID


	
QUICK



	
a


	
b


	
c


	
d






6Which word is closest in meaning to the word FIX?



	
EXPAND


	
REPAIR


	
REMOVE


	
REVEAL



	
a


	
b


	
c


	
d






7Which word describes something different from the others?



	
CRATER


	
GULF


	
LUMP


	
PIT



	
a


	
b


	
c


	
d






8Which word is closest in meaning to the word PATH?



	
TRACK


	
OUTLET


	
LAND


	
HILL



	
a


	
b


	
c


	
d






9Which word describes something different from the others?



	
RECORD


	
REPORT


	
STATE


	
SPEAK



	
a


	
b


	
c


	
d






10Which word is closest in meaning to the word COLLECT?



	
FORFEIT


	
GATHER


	
PROPERTY


	
SHIFT



	
a


	
b


	
c


	
d






11Which word describes something different from the others?



	
FACTUAL


	
AUTHENTIC


	
IMAGINARY


	
REAL



	
a


	
b


	
c


	
d






12Which word is closest in meaning to the word INCLUDE?



	
CONTAIN


	
EXTRA


	
SUBTRACT


	
CONFORM



	
a


	
b


	
c


	
d






13Which word describes something different from the others?



	
EXPERT


	
MASTER


	
ACE


	
BUNGLER



	
a


	
b


	
c


	
d






14Which word is closest in meaning to the word GUARDIAN?



	
GRANTEE


	
LICENSEE


	
TRUSTEE


	
EMPLOYEE



	
a


	
b


	
c


	
d






15Which word describes something different from the others?



	
INCESSANT


	
TRANSITORY


	
RELENTLESS


	
INTERMINABLE



	
a


	
b


	
c


	
d






16Which word is closest in meaning to the word DESIGN?



	
MISCONCEIVE


	
SHOCK


	
APATHY 


	
PURPOSE



	
a


	
b


	
c


	
d






17Which word describes something different from the others?



	
GAIN


	
INTEREST


	
HARM


	
PROFIT



	
a


	
b


	
c


	
d






18Which word is closest in meaning to the word FRANTIC?



	
FRENETIC


	
SANE


	
FOOLISH


	
DISPOSSESSED



	
a


	
b


	
c


	
d






19Which word describes something different from the others?



	
POSITION


	
DOCK


	
BED


	
FLOWER



	
a


	
b


	
c


	
d






20Which word is closest in meaning to the word RESTORATION?



	
CONTINUATION


	
RESTITUTION


	
RELAXATION


	
APPRECIATION



	
a


	
b


	
c


	
d






21Which word describes something different from the others?



	
ENQUIRY


	
BIOGRAPHY


	
HISTORY


	
MEMOIR



	
a


	
b


	
c


	
d






22Which word is closest in meaning to the word HINDER?



	
BACK


	
DIFFICULTY


	
OBLIGE


	
HAMPER



	
a


	
b


	
c


	
d






23Which word describes something different from the others?



	
INVENTORY


	
RECORD


	
RECKON


	
CATALOGUE



	
a


	
b


	
c


	
d






24Which word is closest in meaning to the word INSTANCE?



	
EVENTUAL


	
ILLUSTRATION


	
ERROR


	
RESTRICTION



	
a


	
b


	
c


	
d






25Which word describes something different from the others?



	
RADIANCE


	
BLAST


	
OUTBURST


	
HARSH



	
a


	
b


	
c


	
d






26Which word is closest in meaning to the word NONCHALANT?



	
COAXING


	
ELOQUENT


	
COOL


	
ENTHUSIASTIC



	
a


	
b


	
c


	
d






27Which word describes something different from the others?



	
BARREN


	
DESOLATED


	
FORLORN


	
FLAWED



	
a


	
b


	
c


	
d






28Which word is closest in meaning to the word CURT?



	
VERBOSE


	
LONG


	
ABRUPT


	
FRANK



	
a


	
b


	
c


	
d






29Which word describes something different from the others?



	
TOKEN


	
SIGN


	
REMNANT


	
UNDEVELOPED



	
a


	
b


	
c


	
d






30Which word is closest in meaning to the word SPHERE?



	
PLACE


	
SPACIOUS


	
SHAPE


	
ORB



	
a


	
b


	
c


	
d






31Which word describes something different from the others?



	
NAB


	
NAIL


	
COLLAR


	
STICK



	
a


	
b


	
c


	
d






32Which word is closest in meaning to the word CHARY?



	
HEEDLESS


	
SHY


	
RUSH


	
PLANNED



	
a


	
b


	
c


	
d






33Which word describes something different from the others?



	
EXULT


	
EULOGIZE


	
SOLEMNIZE


	
ENTERPRISE



	
a


	
b


	
c


	
d






34Which word is closest in meaning to the word UNSTEADY?



	
UNCHANGEABLE


	
SATURNINE


	
MERCURIAL


	
UNVARIED



	
a


	
b


	
c


	
d






35Which word describes something different from the others?



	
MELD


	
SECEDE


	
MERGER


	
FUSE



	
a


	
b


	
c


	
d






36Which word is closest in meaning to the word GENIAL?



	
CONVIVIAL


	
TWIN


	
ESCORT


	
RAPPORT



	
a


	
b


	
c


	
d






37Which word describes something different from the others?



	
OPPRESSIVE


	
ONEROUS


	
INSOUCIANT


	
HERCULEAN



	
a


	
b


	
c


	
d






38Which word is closest in meaning to the word PREVARICATE?



	
EQUIVOCATE


	
PREMEDITATE


	
RUMINATE


	
OFFICIATE



	
a


	
b


	
c


	
d






39Which word describes something different from the others?



	
DOGGED


	
ASSIDUOUS


	
SEDULOUS


	
DILATORY



	
a


	
b


	
c


	
d






40Which word is closest in meaning to the word VAPID?



	
SARDONIC


	
FUMY


	
STEAMY


	
VACUOUS



	
a


	
b


	
c


	
d






Answers to Test 3


	
		
				1c

2b

3d

4b

5a

6b

7c

8a

				9a

10b

11c

12a

13d

14c

15b

16d

				17c

18a

19d

20b

21a

22d

23c

24b

				25d

26c

27d

28c

29d

30d

31d

32b

				33d

34c

35b

36a

37c

38a

39d

40d



RAW SCORE = Number of correct answers minus ¼ incorrect answers plus 4 if aged under 18 years, plus 2 if aged under 21 years.

GRADES



	
A score of


	
35 or over


	
grade A



	

	
29–34


	
grade B



	

	
23–28


	
grade C



	

	
17–22


	
grade D



	

	
10–16


	
grade E



	

	
0–9


	
grade F






Transfer your grade to the chart on page 94.

Explanations to Test 3

Verbal Concepts

1All but ‘c’ are colours.

2A ‘noise’ is a ‘sound’. ‘Quiet’ is an opposite of ‘noise’, whilst ‘road’ and ‘man’ have no connection.

3‘Skilful’, ‘talented’ and ‘clever’ are to do with competence, whilst ‘incapable’ means the opposite.

4Both ‘strange’ and ‘odd’ mean something out of the ordinary or unusual.

5A ‘bang’ is a loud, sudden, explosive sound and is a noun, whilst the other words are adjectives describing speediness.

6‘Fix’ and ‘repair’ both mean to join together or to set right again.

7A ‘lump’ is a protuberance, whilst the other words describe some form of cavity or indentation.

8Both ‘track’ and ‘path’ describe a line of travel.

9To ‘record’ is the only word among the four that describes a permanent act of setting down in a permanent form. A ‘report’ may also do this, but is not a necessary condition of reporting.

10Both ‘collect’ and ‘gather’ describe bringing together or harnessing.

11All but what is ‘imaginary’ can be objectively observed and authenticated.

12Both ‘include’ and ‘contain’ describe the holding of contents or comprising.

13All, apart from ‘bungler’ describe excellence of execution.

14Both ‘trustee’ and ‘guardian’ mean to manage or look after the affairs of another.

15All but ‘transitory’ describe a permanent, continuing action.

16Both ‘design’ and ‘purpose’ describe the intent of carrying out an action. 

17All but ‘harm’ describe a beneficial increase.

18Both ‘frantic’ and ‘frenetic’ describe wild excitement.

19All but ‘flower’ describe a place, seat or situation occupied by a thing.

20Both ‘restoration’ and ‘restitution’ mean to put back to the original state.

21‘Enquiry’ means to question or to investigate, whereas the other words all describe a version of events.

22Both ‘hinder’ and ‘hamper’ describe obstruction of movement.

23‘Reckon’ is the act of ascertaining a number or amount, whilst the other words are all forms of a list for remembering.

24Both ‘instance’ and ‘illustration’ are examples or representations of a thing.

25All but ‘harsh’ describe an emanation or emission from a centre.

26Both ‘nonchalant’ and ‘cool’ mean indifferent or unmoved.

27All but ‘flawed’ describe a bleak situation.

28The words ‘curt’ and ‘abrupt’ share brevity and suddenness, bordering upon discourtesy or being at odds with what has taken place thus far.

29‘A’, ‘b’ and ‘c’ are all evidence of the existence of something else.

30Only ‘sphere’ and ‘orb’ share the concept of roundness.

31All but ‘stick’ share the concept of securing or getting hold of. 

32Both ‘chary’ and ‘shy’ describe caution or wariness.

33All but ‘d’, which is a noun describing an undertaking, are verbs describing rejoicing or celebration.

34Both ‘unsteady’ and ‘mercurial’ describe quickness to change.

35‘Secede’ describes withdrawing from, whilst the other words describe joining.

36Both ‘genial’ and ‘convivial’ describe cheerfulness and joviality.

37All but ‘insouciant’ describes difficult burdens.

38‘Prevaricate’ and ‘equivocate’ share the concept of hesitation or uncertainty.

39‘Dilatory’ describes delay, whilst the other words describe perseverance.

40Both ‘vapid’ and ‘vacuous’ share the concept of possessing nothing of interest or merit.


Test 4Form Recognition


This is a test of how well you are able to perceive differences between shapes. You have to choose the one shape that is EXACTLY the same as the original. The alternatives might be turned around as well as turned over. Try to imagine what the lines and shapes would look like from the other side. With each question you are only allowed to choose one of the alternatives as your answer. 

You can mark your answer on the page in the way that suits you best. You can cross the correct answer through, mark with a tick, circle or underline. It is best to mark your answer with a pencil so that you can erase it if you change your mind. The first of the examples below has been done already.

Examples

[image: ]

In the first example only ‘b’ is exactly the same as the original. In the second example ‘d’ is exactly the same as the original seen from behind. In the other drawings, the shape is wrong or part of the drawing has been moved. In the third example ‘a’ is exactly the same as the original. In ‘b’ the small triangle is too large. In ‘c’ the shape is too large. In ‘d’ the shape is wrong. 

This test lasts 9 minutes. You have to work accurately and do as many questions as you can in the time allowed. When you are ready, turn over the page and start your timer as you do so. Keep going until you have finished the last question or run out of time.

[image: ]

[image: ]

[image: ]

[image: ]

Answers to Test 4


	
		
				1a

2b

3d

4c

5b

6d

7a

8a

				9b

10a

11b

12b

13d

14a

15c

16c

				17c

18c

19a

20d

21c

22b

23d

24a

				25d

26c

27a

28b

29a

30b

31b

32c

				33d

34a

35c

36d

37c

38d

39d

40b



SCORE = Number of correct answers minus ¼ of incorrect answers. 

GRADES

	
A score of 


	
30 or over


	
grade A



	

	
22–29


	
grade B



	

	
15–21


	
grade C



	

	
9–14


	
grade D



	

	
4–8


	
grade E



	

	
0–3


	
grade F






Transfer your grade to the chart on page 94.

Test 5Extrapolation


This is a test of how well you are able to calculate an unknown term from a range of given terms. 

Choose your answer FROM THE OPTIONS PROVIDED. 

You can mark your answer on the page in the way that suits you best. You can cross the correct answer through, mark with a tick, circle or underline. It is best to mark your answer with a pencil so that you can erase it if you change your mind, but do not mark this book if it is not yours. Use spare paper instead. Also, have some spare paper available in case you need it for any rough work. The first of the examples below has been done already.

Examples 

[image: ]

In the first example, the value of a club must be ‘2’, because in the second column three clubs totalled ‘6’. The value of a heart must be ‘1’, because in the first column two clubs and a heart totalled ‘5’. It follows that a heart must be ‘1’ less than a club. Therefore, the answer is ‘b’, 3.



[image: ]

In the second example, the second column is different from the first column as it has two B’s instead of two A’s. Therefore a B must be 5 less than an A. The only way that the second column can total ‘12’ is for a B to value ‘1’ and an A to have a value of ‘6’. This means that ‘C’ must value ‘4’. These values also give the correct total in the first column. No other values work. Introducing these values into the third column gives 10, so the answer is ‘d’, 10.

With each problem any term may have the same value as other terms. Remember to choose your answer from the options provided.

This test lasts 15 minutes. You have to work accurately and do as many questions as you can in the time allowed. Remember, you must choose an answer FROM THE OPTIONS PROVIDED. When you are ready, turn over the page and start your timer as you do so. Keep going until you have finished the last question or run out of time.

[image: ]

[image: ]

[image: ]

[image: ]

[image: ]

[image: ]

Answers to Test 5


	
		
				1b

2a

3d

4b

5e

				6a

7c

8e

9a

				10c

11d

12b

13b

				14c

15d

16a

17d



RAW SCORE = Number of correct answers minus 1/5 of incorrect answers.

GRADES



	
A score of 


	
12 or over


	
grade A



	

	
9–11


	
grade B



	

	
7–8


	
grade C



	

	
5–6


	
grade D



	

	
3–4


	
grade E



	

	
1–2


	
grade F






Transfer your grade to the chart on page 94.

Explanations to Test 5

Extrapolation

1In the first column the diagonal cross must have the value of either 1 or 3, since the straight crosses must have equal values and therefore be either 1 or 2. If the value of the diagonal cross is three then the second column would not be correct, since the two values of the diagonal crosses would have exceeded 4 even without adding the value of the straight cross. Applying the value of 1 to the diagonal crosses and two to the straight crosses produces the correct totals for all three columns.

2In the first column three stars total six, so each star must have the value of 2. Two stars in the second column add to 4, which means that the ϑ shape must be 1. Two ϑ shapes and a star in the third column total 4.

3As three B’s in the second column total six each B must have the same value of 2. Deducting the value of the B (2) in the first column leaves two A’s that must total 6. As each A must have a value of 3, the total for the third column is 9.

4In column two there are three symbols that are the same, so the value of Ω is 1. Two of the same symbols in column one total two so, by substitution, the value of ψ is three. Two threes and a one in the third column total 7.

 Rather than attempting to compute these problems mentally, one way to solve them is by applying quadratic equations, as follows:


	
		
				5

				1st column

				1 h

				+

				2 v

				= 8


			
					
					2nd column

					2 h

					+

					1 v

					= 13


			
					 Therefore (by multiplying the 2nd column by 2)


				
						
						1st column

						1 h

						+

						2 v

						= 8


					
							
							2nd column

							4 h

							+

							2 v

							= 26

					

					
							Therefore (by subtracting the 1st from the 2nd column)



	
	
	3 h

	
	
	= 18



		
		Therefore

		1 h

		
		
		= 6


	
			
			3rd column

			3 h

			
			
			= 18


		
				6

				1st column

				2 Θ

				+

				1 Σ

				= 8

		

		
				

				2nd column

				1 Θ

				+

				2 Σ

				= 10

		

		
				 Therefore (by multiplying the 1st column by 2)

		

		
			
			1st column

			4 Θ

			+

			2 Σ

			= 16


		
			
			2nd column

			1 Θ

			+

			2 Σ

			= 10


		
				 Therefore (by subtracting the 2nd from the 1st column)

		

		
				
				

				3 Θ

				

				

				= 6


	
				
				Therefore

				1 Θ

				

				

				= 2


				
				
				3rd column

				3 Θ

				

				

				= 6


	


7Both the 1st and 2nd columns total 5. Therefore the values of α and γ must be the same. If 2, then the value of χ will be 1, whereas, if 1, then the value of χ will be 3. Putting these values for χ into the third column would give totals of 9 or 3. Only 9 is provided as one of the possible answers.

8The 2’s have all the same value and equal nine so that a single 2 has the value of 3. The 7’s all have the same value of 4. The answer is 3 + 4 + 3 = 10.

9Because there are 2 [image: ] in column 1, which totals 11, and only 1 [image: ] in column 2, which totals 13, it is obvious that the value of  [image: ] is higher than that of [image: ]. Ascribing a value of 3 to  [image: ] and 5 to [image: ] gives correct totals for all three columns.

10From the 1st and 2nd columns, which have the same total, the letter B must have the same value as the letter A. The possibilities are: 

(i)letters A and B are 1, which gives the letter C a value of 7

(ii)letters A and B are 2, which gives the letter C a value of 4

(iii)letters A and B are 3, which gives the letter C a value of 1

 In the case of (i) the total for the 3rd column is 1 + 1 + 7 + 7 = 16, in the case of (ii) the total is 2 + 2 + 4 + 4 = 12, and in the case of (iii) the total is 3 + 3 + 1 + 1 = 8, which is among the provided answers.

11Column totals increase by 5 with each [image: ].

12If the ‘9’ has a value of 2 then the ‘11’ has a value of 5 and value of ‘12’ in the second column will be 0, so the 3rd column total will be 10. The same result can be obtained when the ‘9’ has values of 3, 4, 5, 6 and 7.

13Successively dropping  [image: ] with each column adds 3 to the total.

14In the 2nd column [image: ]  has been replaced with a ?. The difference between the totals of the two columns show that ? has a value 11 more than [image: ]. If this value is put into the 2nd column then  [image: ] has a value of 0 and  [image: ] has a value of 6. These values are then correct for the 1st column and the total for the 3rd column is therefore 44, although this is not provided among the answers. The value of ? can also be 12, giving  a value of 1 and  [image: ] a value of 3, so that this set of values gives the correct answer of 48. 

15Inspection of the 1st and 2nd columns shows that B has a value 1 less than X. A value of 4 for X and 3 for B gives the correct totals for the first two columns. Since the total for the third column is 16, the value for H must be 6 (4 + 3 + H + 3 = 16). All the values have been found in order to arrive at the total for the 4th column.

16Inspection of the 1st and 2nd columns shows that & has a value 5 less than %. A value of 6 is required for &, which gives % a value of 11. This would give ! a value of 8 in the third column. The fourth column is 6 + 11 + 8 + 11 = 36.

17The difference between the symbols between columns 2 and 3 show that Υ has a value of 13 more than Ξ. Between columns 1 and 2 a difference of value of 5 exists between Υ and Ω. One strategy is to ascribe the lowest possible value, 0, to Ξ in column 1. Because Υ is 13 more than this and 5 more than Ω it can be seen that 0 is too low a value for Ξ. Successive strategies could ascribe higher values for Ξ until the sum fits the total, thus: (1 + 14 + 9 + 14 = 38), (4 + 17 + 12 + 17 = 50). When Υ is 17 and Ξ is 4, the 4th column is 17 + 4 + 12 + 4 = 37.

Test 6Technical


This is a test of how well you understand how machines work. You are given a picture or diagram and you have to answer the question. You must choose one of the answers provided. 

You can mark your answer on the page in the way that suits you best. You can cross the correct answer through, mark with a tick, circle or underline. It is best to mark your answer with a pencil so that you can erase it if you change your mind. Have some spare paper available in case you need it for any rough work.

Example

[image: ]

As is shown in the diagram, motorbike wheels are larger than cycle wheels. If the cycle and the motorbike both travel for a kilometre, which type of wheel would have turned around the most times?


	
		
				a) both the same

				b) the cycle wheels

				c) the motorbike wheels



The answer is B) because the distance around the motorbike wheel is longer than the cycle wheel, therefore the cycle wheel has to turn more times to travel the same distance.

In the test you have to look at each diagram and read the question carefully before making your answer. This test lasts 20 minutes. You have to work accurately and do as many questions as you can in the time allowed. The questions are not in order of difficulty. 

When you are ready, turn over the page and start your timer as you do so. Keep going until you have finished the last question or run out of time.

1Two wheels are touching so that one has to turn around if the other one turns. If wheel G is pushed anticlockwise in the direction shown by the arrow, which way will wheel K turn?

[image: ]

a)both the wheels remain stuck so that they do not move

b)clockwise [image: ]

c)anticlockwise [image: ]

2Three wheels are touching so that one has to turn around if the other one turns. If wheel M is pushed in the direction shown by the arrow, which way will wheel K turn?

[image: ]

a)turns one way, then the other

b)anticlockwise [image: ]

c)clockwise [image: ]

d)becomes stuck

3On a cycle the pedal wheel takes a chain to the gears on the back wheel. The chain passes around the middle gear. To make the cycle go faster, but to keep the pedal wheel turning at the same speed, which gear should the chain pass around?

[image: ]

a)either

b)largest gear ‘L’

c)smallest gear ‘S’

4Two cog wheels are touching so that one has to turn around if the other one turns. If wheel G is turned 4 times, how many times will wheel K turn?

[image: ]

a)both the wheels remain stuck so that they do not move

b)four times

c)three times

d)twice e) once

5Three wheels are touching, so that they all turn if any one turns. Which wheel turns the same way as R?

[image: ]

a)P

b)M

c)Neither P nor M

d)Both P and M

6When P turns a quarter (¼) of a revolution in the direction shown, where does the handle, H, move to?

[image: ]

a)to the left and stop

b)left and right

c)right and left

d)right and stop

7At which point, P, S or T, would the boat be most safely attached with a rope to the bank?

[image: ]

a)P

b)S

c)T

d)all the same

8A snooker ball S is about to hit ball M so that M will collide with ball G. In which direction will ball G travel?

[image: ]

9The four drawings are of wooden gates between wooden posts. The gates are each fixed to a post on one side with hinges. Which gate is most likely to keep its shape if a child climbs on to it?

[image: ]

10A steel ball bearing hits a solid metal plate in the direction shown. In which direction will the ball continue after hitting the surface of the plate?

[image: ]

11The water in a full swimming pool is clear. A man can see a ball that has sunk to the bottom. Where is the actual position of the ball likely to be?

[image: ]

12A band passes around wheels P and M. Another band passes around wheel R and the middle of wheel P. When R turns clockwise in the direction shown, which way does M turn?

[image: ]

a)clockwise [image: ]

b)anticlockwise [image: ]

c)M cannot turn

13All the wheels are touching, so that if one moves the others must also move. Which other wheel or wheels turn the same way as Z?

[image: ]

a)H

b)M

c)H and M

d)P and M

e)P and H

f)R and M

14At which point is the dam most likely to break?

[image: ]

a)at the top

b)at the bottom

c)at the side

d)in the middle

e)cannot tell

15If all the wheels are touching so that if one moves the others must also move, which wheel turns fastest?

[image: ]

a)Z

b)M

c)H

d)R

e)P

f)all the same

16Whereabouts on the wheel is it fastest when it turns?

[image: ]

a)all the same

b)at H

c)at J

d)at G

17On a windless, clear day, a small motorboat wants to travel across a channel between two coasts from Port Z to Port W. In which direction should the boat be headed?

[image: ]

a)North 

b)South 

c)East 

d)West

e)North East

f)North West

g)South East

h)South West

18An ancient stone rests upon two others. At which point is it most likely to break?

[image: ]

a)at A 

b)at B 

c)at C

d)at D

e)at E

19When the thread rotates clockwise when looking from the right-hand side, which way does the cog wheel turn?

[image: ]

a)anticlockwise

b)clockwise

20Which rudder position will turn a boat, moving dead ahead, towards the east?

[image: ]

21To get a spirit level to give a horizontal level, it needs to be pushed up at A, the right-hand side or, B, the left-hand side?

[image: ]

a)right-hand side

b)left-hand side

22An old-fashioned grandfather clock can have its weight hung on either an iron bar or a strip of wood. Both pendulums look the same. Which one is more likely to lose time in hot weather, the one made of iron, R, or the one made of wood, W?

[image: ]

a)iron (R)

b)wood (W)

c)no difference

23In the diagrams, the letter T means the ‘turning point’, the letter P means the ‘pressure’ and the letter W means the ‘weight’. Which of the diagrams describes the forces that are maintaining the climber in her position?

[image: ]

24In relation to the earth and the sun, which position will the moon be in when there is a high tide on the earth at point H?

[image: ]

25To siphon liquid from the higher jar into the lower one, it would first be necessary to:

[image: ]

a)have a larger tube

b)have a longer tube

c)pour some of the liquid into the lower bottle to prevent air getting into the tube

d)push the top end of the tube further into the liquid

 e)fill the tube with liquid

Answers to Test 6


	
		
				1b

2c

3c

4d

5c

				6a/b

7a

8c

9d

10b

	11c

12b

13f

14e

15e

				16d

17h

18a

19a

20c

				21b

22a

23c

24a

25e



RAW SCORE=Number of correct answers minus 1/3 of incorrect answers.

GRADES


	
A score of


	
20 or over


	
grade A



	

	
16–19


	
grade B



	

	
11–15


	
grade C



	

	
7–10


	
grade D



	

	
3–6


	
grade E



	

	
0–2


	
grade F






Transfer your grade to the chart on page 94.

Explanations to Test 6

Technical

1Wheel G turns anticlockwise, which causes wheel K to rotate clockwise.

2As wheel M turns clockwise, the small or middle wheel will turn anticlockwise, which causes wheel K to turn in the same way as M; that is, clockwise.

3The smaller the gear, the shorter the ‘distance’ or the circumference around it. This ‘distance’ will be completed more quickly than the circumference or ‘distance’ of the middle or largest gear. The smallest or shortest ‘distance’ around the circumference will have the effect of causing the wheel to rotate more rapidly and therefore to travel the ground faster.

4Wheel G has 8 cogs whilst wheel K has 16, so K turns at half the speed or half the number of times as G.

5The effect of R is to turn the wheels it touches in an opposite rotation to itself.

6P causes the wheel it touches to rotate clockwise thus pushing the horizontal rod to the right, which causes the bottom part of the vertical rod to move to the left below the pivot at which point it stops, having completed a quarter turn. (Some particularly mechanically minded readers will surmise that it is critical to know the farthest distance between the pivot point at which the horizontal rod is attached to the wheel, and the farthest distance to the pivot at the end of the rod. This is because as the wheel rotates this maximum distance may be just before the wheel fully completes a quarter turn, this point being where the pivot on the wheel begins to descend and thus pulls the horizontal rod back to the left and therefore point H on the vertical rod to the right. From the drawing it looks as though this answer is the better one).

7At S and T the current will tend to pull the stern away from the bank with consequent strain to the rope as the anticlockwise moment increases.

8G will travel in a direction opposite to the side at which it is struck.

9Cross-braced timbers provide the support that is likely to stay most rigid. The weight is distributed through the diagonals and into the vertical supports. Gate D is therefore less likely to ‘sag’.

10The ball hits the plate at an angle of about 30 degrees to the plate and will return from the plate at the same angle to the plate. Angle C is too great; the plate would have to have been concave for the ball to achieve this angle. Angle A is incorrect because it makes no allowance for the force in the ball that would return it from the solid metal plate with almost equal and opposite energy.

11Light bends as it travels from air into water, the angle bending away from the surface of the water, so that the ball appears nearer to the observer than it really is. Since the drawing does not contain all the necessary mathematics related to the angles, answer ‘c’ is an acceptable answer that shows understanding of the principle.

12P has a band that passes around its middle, which has been crossed from R, and this has the same effect as if the two wheels were in direct contact, so that R travels in a clockwise direction and P anticlockwise. The band around P and M is not crossed and has the effect of making the wheels turn in the same direction.

13As the wheels touch the direction of travel alternates from clockwise to anticlockwise. R and M are the two wheels that travel in opposite directions from Z.

14Although pressure increases with the depth of water, the builders of the dam would have compensated by increasing the width or by using stronger materials. There is insufficient information to tell where the dam may be weakest.

15P has the smaller circumference. Suppose R has 12 cogs, H 10 cogs, M 8 cogs, Z 6 cogs and P 4 cogs. If R moves 2 cogs it has turned by one sixth, H one fifth, M one quarter, Z one third and P by one half.

16When the wheel turns, the greatest distance for the same amount of time is travelled at the circumference than at any other position on the radius.

17The boat needs to head against the direction of the tide in order to counter its effect.

18The stone is weakest in the middle where it has least support.

19The effect of rotating the thread is to draw the cog towards the right and thus to turn the cog wheel anticlockwise.

20The force of the rudder acts as a brake in which the rudder is turned so answer ‘c’ shows that the boat will ‘brake’ towards the east.

21When the spirit level is horizontal the curved glass tube is marked at the highest point of its curve with a point of juncture with the air bubble, so the left-hand side needs to be raised.

22Iron, though normally stronger than wood, is more susceptible to heat, expanding in hot weather. Expansion of the pendulum causes a slower beat of the pendulum so that the clock loses time.

23The ‘turning point’ is the climber’s feet, the ‘weight’ is her body and the ‘pressure’ is the strap that counteracts the weight, so that the ‘pressure’ is exerted between the ‘turning point’ and the ‘weight’.

24High tides form roughly at two places on the circumference of the earth in line with the position of the moon.

25If the tube is first filled with liquid, the liquid will fall into the lower jar at the same time leaving a partial vacuum in the tube, the vacuum then drawing more liquid into the tube.


Test 7Analytical


This is a test of how well you are able to work out a sequence of information. You have to choose two numbers that will complete the sequence. All the possible answers are provided in the Chart. 

Write both of your answers in the space at the end of each sequence. Both answers must be correct in order to obtain a score. It is best to mark your answer with a pencil so that you can erase it if you change your mind. 

With each sequence of information try to find the outside shape first. Then find the inside shape. Then find whether the inside shape is blank, crossed or shaded. The first of the examples below has been done already.

Chart

[image: ]

(To use the chart, look along the three rows, which are large squares, circles or triangles, then look down the columns of small squares, circles or triangles. So, number 4 is a small, black square inside a large square, whilst number 15 is a small, black circle inside a large triangle, and so on.)

Examples

[image: ]

In the first example, the outside shape must be a circle because the sequence is ‘circle, circle, circle’, and so on, so you know the next two outside shapes are going to be a circle and then another circle. Then, the inside shape is ‘circle, triangle, circle, triangle’, and so on, so you know the next two inside shapes are going to be a triangle and then a circle. Then, the sequence in the small circles and triangles is ‘black, white, black, white, black’, and so on, so you know that the next figure must be white and the next figure must be black. Therefore, the answer is a large circle in which there is a white triangle, then a large circle in which there is a black circle. From the chart you get number 20 and then number 14. Both numbers are required to be correct. 

In the second example the sequence of outside shapes is ‘triangle, circle, circle, triangle, triangle, circle, circle, triangle’ and so on, so the next two shapes must be a triangle then a circle. The inside shapes are ‘square, triangle, triangle, square, triangle, triangle’ and so on, so the next two inside shapes must be a square followed by a triangle. Then the shading inside the small figure is ‘cross, white, white, cross, white, white’, and so on, so the next two in the sequence must be a cross followed by white. The answer is ‘9, 20.’ 

It might help you to do a drawing so that you do not have to keep all the information in your head. Make sure you have spare paper available. 

This test lasts 20 minutes. You have to work accurately and do as many questions as you can in the time allowed. When you are ready, turn over the page and start your timer as you do so. Keep going until you have finished the last question or run out of time.

Chart

[image: ]

[image: ]



Chart

[image: ]

[image: ]

Chart

[image: ]

Chart

[image: ]

Answers to Test 7


	
		
				119, 19

211, 20

321, 12

419, 19

511, 14

618, 12

712, 20

812, 21

910, 2

				1025, 7

1121, 11

1220, 24

1311, 10

1416, 14

152, 11

1620, 13

173, 18

181, 10

	1916, 26

2024, 15

2120, 23

2215, 13

2320, 8

242, 2

2520, 2

2612, 19

2715, 4



SCORE = Number of correct answers (both numbers correct).

GRADES



	
A score of 


	
21 or over


	
grade A



	

	
17–20


	
grade B



	

	
13–16


	
grade C



	

	
9–12


	
grade D



	

	
5–8


	
grade E



	

	
0–4


	
grade F



Transfer your grade to the chart on page 94.

Explanations to Test 7

Aptitudes

1The outside sequence is squares. The inner sequence is white triangles. The next two figures will be squares with white triangles inside.

2The outside sequence is circles. The inside sequence is a white circle, white triangle, white circle, white triangle. The next outside figures will be a circle and another circle. The inside figures will be a white circle and a white triangle. 

3The outside sequence is triangles, so the next two figures will both be triangles. The sequence of inside figures is white circle, white triangle, white circle, white triangle, so the next two figures will have a white triangle and then a white circle.

4The outside sequence is squares, so the next two figures will both be squares. The inside sequence is two white triangles and two white circles. The next two figures will both have a white triangle.

5The outside sequence is circles so the next two will be plain circles. The inside has a sequence of four: black circle, black circle, white circle, white circle, so the next two will be: white circle, black circle.

6The outside sequence is triangles, so the next two figures will both be triangles. The inside sequence is: white circle, black circle, crossed circle, so the next two figures will be: crossed circle, white circle.

7The outside sequence is: triangle, circle, so the next two will be: triangle, circle. The inside sequence is: white circle, white triangle, so the next two will be circle, triangle.

8The outside sequence is: triangle, triangle, so the next two will be triangles. The inside sequence is: white square, white circle, white triangle, so the next two will be: white circle, white triangle.

9The outside sequence is: square, circle, so the next two figures will be: square, circle. The inside sequence is: circle, circle, square, so the next two will be: circle, square. The pattern sequence is: black, white, white, so the next two will be: white, white.

10The outside sequence is: triangle, square, square, so the next two will be: square, square. The inside sequence is: triangle, square, square, so the next two will be: triangle, square. The pattern sequence is: crossed. Therefore: a crossed triangle in a large square and a crossed square in a large square. 

11The outside sequence is: circle, triangle, circle, triangle, triangle, so the next two will be: triangle, circle. The inside sequence is: circle, triangle, so the next two will be: triangle, circle. The pattern sequence is: white. Therefore: a white triangle in a large triangle and a white circle in a large circle.

12The outside sequence is: circle, circle, circle, triangle, square, so the next two will be: circle, triangle. The inside sequence is: triangle, triangle, circle, square, so, the next two will be: triangle, triangle. The pattern is: black, white, so the next two will be: white, black. So the next figure will be a white triangle in a large circle followed by a black triangle in a large triangle.

13The outside sequence is: triangle, triangle, circle, square, square, so the next two will be: circle, square. The inside sequence is: circle, circle, circle, triangle, triangle, so the next two will be: circle, circle. The pattern is: white, white, cross, cross, cross, so the next two will be: white, white. So the next figure will be a white circle in a large circle followed by a white circle in a large square.

14The outside sequence is: circle, triangle, square, so the next two will be: square, circle. The inside sequence is: circle, so the next two will be: circle, circle. The pattern is: black, black, white, cross, so the next two will be: cross, black. So the next figure will be a crossed triangle in a large square followed by a black triangle in a large circle.

15The outside sequence is: triangle, circle, circle, so the next two will be: circle, circle. The inside sequence is: circle, circle, circle, square, square, square, so the next two will be: square, circle. The pattern is: white, white, cross, so the next two will be: white, white. So the next figure will be a white square in a large circle followed by a white circle in a large circle.

16The outside sequence is: circle, circle, square, triangle, so the next two will be: circle, square. The inside sequence is: triangle, one circle, square, triangle, two circles, square, triangle, three circles, square, triangle, four circles, square, so the next two will be: triangle, circle. The pattern is: two white, three black, so the next two will be: white, black. So the next figure will be a white triangle in a large circle followed by a black circle in a large square.

17The outside sequence is: 2 circles, 2 triangles, square, so the next two will be: triangle, triangle. The inside sequence is: 2 circles, square so the next two will be: square, circle. The pattern is: 3 white, cross, so the next two will be: white, cross. So the next figure will be a white square in a large triangle followed by a crossed circle in a large triangle.

18The outside sequence is: 3 squares, triangle, 2 circles, so the next two will be: square, square. The inside sequence is: circle, 2 squares, so the next two will be: square, circle. The pattern is: 2 black, 2 white, so the next two will be: white, white. So the next figure will be a white square in a large square followed by a white circle in a large square.

19The outside sequence is: 2 circles, triangle, 2 circles, square, so the next two will be: square, circle. The inside sequence is: square, 2 circles, triangle, 2 circles, so the next two will be: circle, triangle. The pattern is: 2 white, 2 crossed, so the next two will be: cross, cross. So the next figure will be a crossed circle in a large square followed by a crossed triangle in a large circle.

20The outside sequence is: triangle, triangle, circle, circle, square, so the next two will be: triangle, triangle. The inside sequence is: 2 triangles, 2 circles, square, so the next two will be: triangle, circle. The pattern is: 2 black, 2 white, so the next two will be: black, black. So the next figure will be a black triangle in a large triangle followed by a black circle in a large triangle.

21The outside sequence is: 3 circles, 2 squares, triangle, so the next two will be: circle, circle. The inside sequence is: 2 circles, 2 triangles, square, so the next two will be: triangle, triangle. The pattern is: white, black, white, cross, so: white, black. So the next figure will be a white triangle in a large circle followed by a black triangle in a large circle.

22The outside sequence is: triangle, circle, triangle, square, so the next two will be: triangle, square. The inside sequence is: 2 triangles, 2 circles, so the next two will be: circle, circle. The pattern is: 3 black, white, so the next two will be: black, black. So the next figure will be a black circle in a large triangle followed by a black circle in a large square.

23The outside sequence is: square, triangle, 2 circles, square, triangle, 1 circle, then 2 squares (so the triangle only appears once in each sequence, whilst the squares and circles alternate between appearing once or twice), so the next two will be: circle, circle. The inside sequence is: circle, triangle, 2 squares, then 2 circles, triangle, square, then 3 circles (so the circles are increasing by 1 each sequence, whilst the triangles remain constant and the square always follow the triangle although it is not necessary to know how many squares will be in the next sequence since it is only necessary to deduce that there must be at least one), so the next two will be: triangle, square. The pattern is: 2 white, black, 2 whites, cross, so the next two will be: white, cross. So the next figure will be a white triangle in a large circle followed by a crossed square in a large circle.

24The outside sequence is: 2 circle, 3 triangles, square, so the next two will be: circle, circle. The inside sequence is: 2 squares, triangle, circle, so the next two will be: square, square. The pattern is: 3 white, cross, 2 black, so the next two will be: white, white. So the next figure will be a white square in a large circle followed by a white square in a large circle.

25The outside sequence is: 3 circles, triangle, square, so the next two will be: circle, circle. The inside sequence is: triangle, square, circle, triangle, 2 squares, so the next two will be: triangle, square. The pattern is: 2 white, black, 2 white, cross, so the next two will be: white, white. So the next figure will be a white triangle in a large circle followed by a white square in a large circle.

26The outside sequence is: 2 triangles, 2 squares, circle, square, so the next two will be: triangle, square. The inside sequence is: 2 circles, triangle, 2 circles, square, so the next two will be: circle, triangle. The pattern is: white, cross, 2 white, black, 3 white, cross, (the number of whites increase by one, whilst the crosses and blacks alternate), so: white, white. So the next figure will be a white circle in a large triangle followed by a white triangle in a large square.

27The outside sequence is: 2 triangles, square, circle, triangle, square, so the next two will be: triangle, square. The inside sequence is: square, circle, square, triangle, so the next two will be: circle, square. The pattern is: white, 2 blacks, cross, so the next two will be: black, black. So the next figure will be a black circle in a large triangle followed by a black square in a large square.

How to Interpret and Apply Your Aptitudes

It is recommended that you complete as many of the aptitude tests as possible in order to profit from this chapter. Whilst even a single test result may be revealing, most insight will be gained if you are able to compare your strengths and weaknesses between different aptitudes.

Enter your results from the aptitude tests in the chart shown on page 94. You will need to put in an approximate position if your own score is between those printed in the chart. Then connect each of your results with a line. This will enable you to make an easy comparison between your effectiveness in different areas. Your completed chart will look something like that on page 93.

Your own profile is likely to be different and certainly different from that of anybody else’s; there will be uniqueness about you that you can make use of. The differences between yourself and other people become even greater when you come to take your personality and interests into account! You can do this in later chapters.

It is up to you to decide how much meaning to place upon each one of your results and upon all of your results as a whole. So you will need to use your own judgement when it comes to finally grading yourself on each of the tests and also when it comes to interpreting the picture you are given. Thinking about how different you might be from the group upon which the grades have been based may lead you to make an adjustment to one or more of the grades you have obtained. Are you at an advantage or a disadvantage compared with the group?

There are many reasons why any one of your scores might need to be interpreted with latitude. These matters have been explained in the Introduction and it may be worthwhile to read that section again. Remember that the tests are intended to give you a guide; they are not intended to have, and nor could they have, the validity of tests that are administered by a professional psychologist, who would use fully researched tests and refer to statistical tables in order to make due allowance for your age, circumstances, health, education, and so on.

[image: ]

Bearing these points in mind, how does your profile match your attainments and experience? Does it reflect the results and qualifications you have already obtained? Are the strengths and weaknesses as you expected? Tests are only reliable to the extent that they have been designed properly and also administered correctly. As regards the latter, it is difficult to administer tests to yourself. In particular, errors in timing of even a second or two may affect your scores and timing yourself probably resulted in your spending a disproportionate amount of time watching the clock. Your test score may also vary slightly if you are feeling tired or unready. Again, this type of test does tend to penalize the slow but accurate worker who checks answers as he or she progresses. A psychologist would be looking carefully not just for your test score but also for signs of the manner in which you approached and tackled the test as this can be of as much importance. For these and other reasons, which are normally taken account of by someone who is professionally trained in testing, you may not have done as well on this occasion as you might do on another.

Level of results

When you look at the overall level of the results you should be able to make some comparison with your own expectations in view of your history of performance in other tests and examinations.

[image: ]

If your results are generally below average, you probably find timed examinations difficult or frustrating. Your intelligence may well emerge in ways that are not measured within the scope of this book; for example, you may find that expressive or practical subjects suit you better. If your results are generally above average, you are of a type who is able to apply themselves to the more conventional, academic courses that are usually assessed by means of timed examinations.

The level of your results gives you an indication of the ease with which you can tackle problems in certain areas. A very determined and conscientious individual can sometimes achieve more than the results suggest. Similarly, a less well-disciplined individual may underachieve generally. Nevertheless, the level of your results on these tests should be roughly in line with your experience. However, this book may have happily helped you to discover potential that you were not fully aware of beforehand.

Pattern of results

There are two broad types of test and you should bear in mind what distinguishes them. If you have done better on the Verbal Concepts, Numerical Insight, Visual Logic and Analytical tests, you are likely to enjoy an academic route. If, on the other hand, you did better on the Technical and Form Recognition tests, you are more likely to enjoy areas that involve a more practical route into your profession. For many people, however, there is no clear distinction between these two broad groups and you will need to look further at the interpretations.

There are many possible results, but we will concentrate on the seven individual strengths, each of which is testing core, ‘natural’ potential, and then the 21 paired combinations that might emerge from two almost equally strong results. Look at your strongest score(s) to find out which profile is most representative of your underlying abilities.

Table of strongest aptitudes



	

	
2. Num.


	
3. Verb.


	
4. Form


	
5. Extrap.


	
6. Tech.


	
7. Analyt.



	1.

	Visual logic

	
8.


	
9.


	
10.


	
11.


	
12.


	
13.




	2.

	
Numerical insight


	

	
14.


	
15.


	
16.


	
17.


	
18.




	3.

	
Verbal concepts


	

	

	
19.


	
20.


	
21.


	
22.




	4.

	
Form recognition


	

	

	

	
23.


	
24.


	
25.




	5.

	
Extrapolation


	

	

	

	

	
26.


	
27.




	6.

	
Technical


	

	

	

	

	

	
28.






High scores on a single test

1.Visual Logic

This test requires you to ‘see’ connections between concepts that are not described by either words or numbers. It is an abstract test that is less dependent upon learning than most of the other tests, so is often thought to reveal an aspect of natural ‘raw’ intelligence. It is frequently a good guide to potential for many scientifically based careers, but also to many others where acquiring and making sense of information is the essential requirement.

2.Numerical Insight

This aptitude is similar to, but not the same as, mathematical aptitude, because mathematics often requires other types of reasoning as well, for example on the visual or technical sides. The test requires an aptitude to ‘think’ with numbers and therefore is an essential requirement for many careers where practical as well as abstract calculations are made, including those related to economics and to science.

3.Verbal Concepts

This shows ability to reason with words and relates more to the written word, being the single most useful strength in any kind of formal, academic study within that branch termed the ‘humanities’. This aptitude is often connected with literary and administrative careers, but is also a very important attribute in careers where writing is a major part, because it requires the ability to express yourself using the right word at the right time.

4.Form Recognition

This is the aptitude enabling you to visualize a three-dimensional object when given limited two-dimensional information. It can reveal the potential to ‘read’ drawings and understand physical layout that may be represented in other forms. The ‘spatial’ element is often seen in people who have an artistic or design understanding or skill.

5.Extrapolation

This is an abstract test of intelligence, considered by many psychologists to be one of the ‘purest’ measures of reasoning. It demands that you derive possibilities based upon available evidence, then form a hypothesis to test the problem. It is the kind of reasoning that often forms the essence of complex decision making where the outcome of a decision has to be assessed on the basis of implicit as opposed to objective data. Talent in this area suggests careers at senior levels in complex organizations involving law, finance and senior executive positions in business and public administration.

6.Technical

This test reveals your understanding of the forces and dynamics that happen within and around machinery as well as in the natural world. Although the test items themselves are somewhat sophisticated, requiring a good understanding of language as well, this aptitude reveals a talent for many professions that have a connection with engineering, technology and ‘hardware’.

7.Analytical

This reveals potential for working out connections from a sequence of evidence where the key to the problem is embedded. Grasping the links between a series of events shows ability to think quickly, solve problems and to work with new ideas. Analytical reasoning does not always express itself in academic attainment, but nonetheless points to high-level, long-term potential.

High scores on two tests

It is quite unusual to have one single strong ability and most people will want to see how two or more strengths might be applied.

8.Visual/Numerical

These strengths are particularly for the harder-scientific approaches, especially at the senior levels. Examples in this area would include analytical chemists, metallurgists, astronomers, and nuclear physicists.

9.Visual/Verbal

Some form of scientific or information or deductive career often suits this combination. People tend to be good in areas of the ‘social’ or ‘biological’ sciences.

10.Visual/Form

This combines a logical approach with the ability to visualize. It reveals a good artistic sense as well as scientific potential. A career should ideally combine intuitive and deductive and rational elements in some way.

11.Visual/Extrapolation

Activities combining these two strengths are often specialist, requiring a scientific or, in any case, logical approach and attention to order and detail. Programming and other information processing roles are possible in many different types of organization where data handing, record keeping and communication are important.

12.Visual/Technical

This combines a scientific approach with the application of technical understanding. Technological careers are the obvious route, the precise areas perhaps being determined by neither factor, but rather how strong others factors might be. For example, the above with verbal aptitude might lead into administration and management, whilst numerical aptitude might suggest a more academic or research role.

13.Visual/Analytical

This would include scientific and investigative areas of endeavour where the emphasis is upon reasoning, and understanding of knowledge, though not necessarily how to apply that knowledge.

14.Numerical/Verbal

The ability to reason equally with words and numbers is often regarded as the best predictor of success in most formal, academic examinations that are not specifically scientific. There are numerous legal, administrative and financial careers that arise.

15.Numerical/Form

This combination links the ability to use the design or sculptural aptitude with numbers. It also describes the potential of people who have been successful with computer software, web design and related areas.

16.Numerical/Extrapolation

This combination is clearly most valuable in many areas of finance. Insurance, banking, actuarial work, statistics and many other areas connected with finance and administration are most obviously appropriate.

17.Numerical/Technical

This is a common combination of applied science and technical fields as diverse as engineering, physics, geology, and production.

18.Numerical/Analytical

These aptitudes suggest mathematical and therefore scientific areas of work where research and possibly innovation and deductive reasoning are required.

19.Verbal/Form

This combination requires a means of expressing both the ability to use words and to work with design in some form. It could be applied in areas of, for example, photojournalism, magazine and film editing, directing, design consultancy and publishing.

20.Verbal/Extrapolation

This is the area where you are dealing with words and having to do so with precision. Many ‘office type’ tasks fall into this category, particularly those that are legal. Connected with publishing, processing, translating, proofreading, personnel and many other areas of executive work.

21.Verbal/Technical

This combination could lead into areas of work on the applied side of engineering dealing with legal issues, technical writing, lecturing and teaching, technical sales and other agents.

22.Verbal/Analytical

This combination is frequently seen in people who are managers, directors, investigators or those who may have some kind of interpretative or consultancy responsibility. It is a combination that seems to lend itself to careers in which the management of others is a requirement.

23.Form/Extrapolation

In this combination the artistic and design sense together with exactitude would have application in film editing and related areas of production, cartography, animation as well as more obviously technical areas such as electronics and programming.

24.Form/Technical

This combination reveals extremely practical talent that might be expressed in many areas of industrial design, engineering and craft. A consideration would also be the hand–eye coordination, dexterity and other physical talents of the person.

25.Form/Analytical

This combines the design sense, which is itself ‘analytical’, with a deductive approach, thus showing definite potential for ‘seeing and sorting out’. This could take place in many practical areas of endeavour and may well include not only a project, but also the management of people.

26.Extrapolation/Technical

This combination suggests functional, executive and technical careers in which dealing with material, equipment, budgets and resources would in some way be important.

27.Technical/Analytical

This is relevant to process engineering, materials science and quality control. It combines the ability to understand what happens with the abstract logic of why it happens. It often suggests managerial potential in a manufacturing or other active or physical context.

28.Organizational/Extrapolation

This combination indicates ability to analyse and to think logically with attention to detail as well, and provides strong concentrative power and focus upon a task. This combination shows a penetrating mind that will be most effective when it can resolve problems and obtain an exact conclusion.

High scores on three or more tests

There are, of course, other combinations of three or more strengths. Areas of weakness also need to be taken into account, as these show what it is probably best to avoid. You need to weigh up your own pattern, asking yourself ‘Where would I be able to use this..., but would not be expected to have this...?’ The Occupational Index on page 161 should help you further with this process, and will also assist you in taking your personality and interests into account.

If you have abilities at a fairly even level, it is most important that you pay particular attention to your personality and to what will motivate you.




End of sample
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